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— TNPUHAOJIEHCUM

— “ne npunaonexcum’

B MHOXecTBe 4 10 anemMeHTOB.



OMNePALUNN HAL
MHO>XECTBAMW

MWLLA nmeet Tpn KapaHgalua.

M ={kpacHbIl, 3€JICHbIN, CHUHUM }

OVMA nmeet Tpu KapaHaalla.

D ={cunuu, 3eJICHLIN, YCPHBIM §



ObbeanHeHne MHOXECTB
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Pa3HOCTb MHOXECTB
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[lekapToBO Npoun3BeaeHmne
MHOXECTB
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[loaMHOXeCTBO

PCM



Buabl MHOXECTB

beckoHe4yHble
KOoHe4yHble
[lycTOe MHOXeCTBO <



CnocoObl 3agaHns
MHOXECTB

Cnucok,
nepe4vymncrieHme BCeX 3yieMeHTOB

XapakTepucTuka,

nepe4yuncrieHue CBOUCTB
3fIeMeHTOB



